First Fleet Maintenance LTD

140 MacLennan Crescent

Fort McMurray AB T9H 4E8

info@firstfleet.ca

www.firstfleet.ca

GST/HST Registration No.: 833031859RT0001

INVOICE

BILL TO

Laurence

Heavy Wrench Mechanical
6 Ireland

Guelph Ontario N1E7C2

INVOICE 21361
DATE 26/04/2022
TERMS Net 30
DUE DATE 26/05/2022

00
00

DESCRIPTION QTY RATE

UNIT JTO1

2012 DODGE RAM 5500
3C7WDNBL1CG164184
339,979 KMS

16,102 HOURS

UNIT CAME IN FOR COMPLAINTS OF THE FOLLOWING ISSUES:
* REAR SPRING ISSUE

* FRONT DIFF SWAP OVER

* CHECK REAR DIFF AND TRANSFER CASE OIL

* GREASE AND OIL CHANGE

* POWER STEERING PUMP NOISY

* BRAKE PEDAL STIFF

REMOVED FRONT AXLE ASSEMBLY, INSTALEED GOOD/USED
AXLE ASSEMBLY THAT CUSTOMER SUPPLIED. SWAPPED
OVER ROTORS AND FRONT BRAKE PADS FROM OLD AXLE TO
NEW AXLE. REMOVED DIFF COVER AND CLEANED ALL
GEARS, TOPPED UP FLUID. FOUND STEERING LINK DAMAGED,
REMOVED AND REPLACED AS REQUIRED. CLEANED MUD
FROM FRONT AND REAR WHEELS. FOUND BRAKE LINE
LEAKING BADLY IN THE FRONT, HAD TO BEND AND BUILD A
NEW BRAKE LINE THAT RUNS FROM THE LEFT TO RIGHT
CALIPER AND TOP UP FLUID. REMOVED AND REPLACED BOTH
REAR SPRING PACKS, U-BOLTS, CENTER BOLTS, NUTS AND
WASHERS. REPLACED WORN REAR BRAKE PADS, REPLACED
LEFT REAR BRAKE LINE THATS LEAKING AND TOPPED UP
FLUID. REMOVED AND REPLACED BURNT UP POWER
STEERING PUMP AND FLUSHED SYSTEM, TOPPED UP FLUID.
BLEED COMPLETE BRAKING SYSTEM. REPLACED 1 BROKEN
REAR WHEEL STUD AND NUT. REMOVED AND REPLACED
PINION SEAL. INSTALLED FRONT DRIVE SHAFT AND GREASED,
INSTALLED 4 NEW BOLTS. GREASED FRONT END OF TRUCK.
CHECKED TRANSFER CASE AND TRANSMISSION FLUID
LEVELS AND BOTH ARE GOOD. SERVICED UNIT, CHANGED
ENGINE OIL FILTER AND OIL AS REQUIRED.

LABOUR 36.50 155.00
LABOUR DISCOUNT -6.50 155.00

Page 1 of 2

AMOUNT

5,657.50
-1,007.50



269-6119
6509420AA
6509424AA
34-1549-HD
SR34X42HT
SR34X38HT
DN34GR8
UBW?75
T187
BQ5555
BQ9180
29528
SG-8446M
BRHR*116*
68070908AD
6033358
30096-1L
LF3972
30088-1000L
15-811
550027635
CPM*4*

200

20

TAX SUMMARY

DRAG LINK

STUD

NUT

SPRING PACKS

U BOLT

U-BOLTS

3/4" NF DEEP NUT

3/4" FLAT WASHER
3/16" OD TUBE

NUT MALE 3/8 X 24NF-3/16
NUT MALE M12 X 1 X 3/16
PINION SEAL

BRAKE PADS

HOSE

POWER STEERING PUMP
BOLT

75W90 FULL SYN GEAR OIL
OIL FILTER

OlL, 5W40 SYN CK4 BULK
BRAKE FLUID DOT
GREASE, GADUS S2 V30 KC
BRAKE CLEAN

FREIGHT

SHOP SUPPLIES (CAPPED)

RATE

GST@5%

TAX

491.87

189.98
43.08
30.92

1,264.89
48.29
4419

1.52
1.22
9.02
4.40
6.77
79.68
210.16
106.71
618.67
16.62
19.99
10.58
10.99
16.99
7.30
4.15
350.00
350.00

189.98
43.08
30.92

2,529.78
96.58
88.38
12.16

9.76
63.14
4.40
6.77
79.68
210.16
106.71
618.67
66.48
79.96
10.58
131.88
50.97
7.30
49.80
350.00
350.00

9,837.14
491.87

10,329.01

$10,329.01

NET

9,837.14



